

VIJAY GUPTA, G.S. SRIVASTAVA

ON SIMULTANEOUS APPROXIMATION BY COMBINATIONS OF BASKAKOV-SZÁSZ TYPE OPERATORS

In this paper, we study some direct results in simultaneous approximation for the linear combination of Baskakov-Szász type operators.

Key words: Baskakov operators, order of approximation, linear combinations, modulus of continuity.

1. Introduction

The integral modification of well known Baskakov operators is defined as

$$(1.1) \quad S_n(f, x) = \sum_{\nu=0}^{\infty} p_{n,\nu}(x) \int_0^{\infty} q_{n,\nu}(t) f(t) dt, \quad x \in [0, \infty)$$

where $p_{n,\nu}(x) = \binom{n+\nu-1}{\nu} x^{\nu} (1+x)^{-n-\nu}$ and $q_{n,\nu}(t) = \frac{e^{-nt} (nt)^{\nu}}{\nu!}$.

The above integral modification of Baskakov operator was recently defined by the authors (see e.g.[3]) to approximate Lebesgue integrable functions on $[0, \infty)$. From [3], we may remark that the order of approximation by the operators (1.1) is at best $O(n^{-1})$, howsoever smooth the function may be. Thus if we want to have a better order of approximation for smoother functions, we have to slacken the positivity conditions. For this we define the linear combinations.

For a fixed natural k and arbitrary but fixed distinct positive integers d_j , $j = 0, 1, 2, \dots, k$, the linear combinations $S_n(f, k, x)$ of $S_{d_j}(f, x)$ are defined as

$$S_n(f, k, x) = \sum_{j=0}^k C(j, k) S_{d_j}(f, x)$$

where

$$(1.2) \quad C(j, k) = \prod_{\substack{i=0 \\ i \neq j}}^k \frac{d_j}{d_j - d_i}, \quad k \neq 0, \quad C(0, 0) = 1$$

Alternately, the linear combination $S_n(f, k, x)$ of $S_{d_j n}(f, x)$, $j = 0, 1, \dots, k$ may be written as

$$(1.3) \quad S_n(f, k, x) = \frac{1}{\Delta} \begin{vmatrix} S_{d_0 n}(f, x) & d_0^{-1} & \dots & d_0^{-k} \\ S_{d_1 n}(f, x) & d_1^{-1} & \dots & d_1^{-k} \\ \dots & \dots & \dots & \dots \\ S_{d_k n}(f, x) & d_k^{-1} & \dots & d_k^{-k} \end{vmatrix}$$

where Δ is the Vandermonde determinant obtained by replacing the operator column of the above determinant by the entries 1.

We denote the class of all measurable functions defined on $[0, \infty)$ such that

$$L = \left\{ f : \int_0^{\infty} e^{-nt} f(t) dt < \infty \text{ for some positive integer } n \right\}.$$

Obviously, $L_1[0, \infty) \subset L$ and hence S_n may be utilised for studying a larger class of functions. The object of the present paper is to study an asymptotic formula and an error estimate for the linear combinations of the operators (1.1).

2. Basic Results

To prove the main results, we require the following lemmas and corollary.

Lemma 2.1 [3]. For $m \in \mathbb{N}^0$ (the set of non-negative integers), if

$$U_{n,m}(x) = \sum_{v=0}^{\infty} p_{n,v}(x) \left(\frac{v}{n} - x \right)^m$$

then there holds the recurrence relation

$$n U_{n,m+1}(x) = x(1+x) [U_{n,m}^{(1)}(x) + m U_{n,m-1}(x)], \quad \text{for } m \geq 2.$$

Consequently

- (i) $U_{n,m}(x)$ is a polynomial in x of degree at most m .
- (ii) For every fixed $x \geq 0$, $U_{n,m}(x) = O_x(n^{-(m+1)/2})$ where $[\alpha]$ denotes the integral part of α .

* Lemma 2.2. Let $r, m \in \mathbb{N}^0$ (the set of non-negative integers), $n \in \mathbb{N}$ and $x \in [0, \infty)$. If we define

$$(2.1) \quad T_{r,n,m}(x) = n \sum_{v=0}^{\infty} p_{n+r,v}(x) \int_0^{\infty} q_{n,v+r}(t) (t-x)^m dt$$

then there holds

$$n T_{r,n,m+1}(x) = x(1+x) T_{r,n,m+1}^{(1)}(x) + [m+1+r(1+x)] T_{r,n,m}(x) + mx T_{r,n,m-1}(x), \quad m \geq 2.$$

Consequently

(i) We have $T_{r,n,0}(x) = 1, \quad T_{r,n,1}(x) = \frac{1+r(1+x)}{n}$

and $T_{r,n,2}(x) = \frac{rx(1+x) + 1 + [1+r(1+x)]^2 + nx(2+x)}{n^2}$

(ii) For every fixed $x \geq 0, \quad T_{r,n,m}(x) = O_x(n^{-(m+1)/2})$.

Proof. We first prove (2.1), by using

$$t q_{n,v}^{(1)}(t) = (v-nt) q_{n,v}(t); \quad x(1+x) p_{n,v}^{(1)}(x) = (v-nx) p_{n,v}(x)$$

and from the definition of $T_{r,n,m}(x)$, we have

$$\begin{aligned} x(1+x) T_{r,n,m}^{(1)} &= n \sum_{v=0}^{\infty} x(1+x) p_{n+r,v}^{(1)}(x) \int_0^{\infty} q_{n,v+r}(t) (t-x)^m dt - \\ &\quad - mn \sum_{v=0}^{\infty} x(1+x) p_{n+r,v}(x) \int_0^{\infty} q_{n,v+r}(t) (t-x)^{m-1} dt = \\ &= n \sum_{v=0}^{\infty} [v - (n+r)x] p_{n+r,v}(x) \int_0^{\infty} q_{n,v+r}(t) (t-x)^m dt - \\ &\quad - mx(1+m) T_{r,n,m-1}(x). \end{aligned}$$

Therefore,

$$\begin{aligned} x(1+x) [T_{r,n,m}^{(1)}(x) + m T_{r,n,m-1}(x)] &= \\ &= n \sum_{v=0}^{\infty} p_{n+r,v}(x) \int_0^{\infty} [(v+r-nt) + n(t-x) - \end{aligned}$$

$$\begin{aligned}
& -r(1+x)]q_{n,v+r}(t)(t-x)^m dt = \\
& = n \sum_{v=0}^{\infty} p_{n+r,v}(x) \int_0^{\infty} t q_{n,v+r}^{(1)}(t)(t-x)^m dt + \\
& \quad + n T_{r,n,m+1}(x) - r(1+x) T_{r,n,m}(x) = \\
& = n \sum_{v=0}^{\infty} p_{n+r,v}(x) \int_0^{\infty} q_{n,v+r}^{(1)}(t)(t-x)^{m+1} dt + \\
& \quad + nx \sum_{v=0}^{\infty} p_{n+r,v}(x) \int_0^{\infty} q_{n,v+r}^{(1)}(t)(t-x)^m dt + \\
& \quad + n T_{r,n,m+1}(x) - r(1+x) T_{r,n,m}(x) = \\
& = -(m+1) T_{r,n,m}(x) - mx T_{r,n,m-1}(x) + n T_{r,n,m+1}(x) - r(1+x) T_{r,n,m}(x).
\end{aligned}$$

This leads to the proof of (2.1).

The other consequences follow from the recurrence relation (2.1) and the definition of $T_{r,n,m}(x)$. This completes the proof of lemma 2.1.

Corollary 2.3 [3] Let α and δ be positive numbers. Then for every $m \in \mathbb{N}$ and $x \in [0, \infty)$, there exists a positive constant $M_{m,x}$ depending on m and x such that

$$n \sum_{v=0}^{\infty} p_{n,v} q_{n,v} e^{\alpha t} dt \leq M_{m,x} n^{-m}.$$

Lemma 2.4. If f is r times ($r = 1, 2, \dots$) differentiable on $[0, \infty)$, then we have

$$S_n^{(r)}(f, x) = \frac{(n+r-1)!}{n^{r-1}(n-1)!} \sum_{v=0}^{\infty} p_{n+r,v}(x) \int_0^{\infty} q_{n,v+r}(t) f^{(r)}(t) dt.$$

Proof. We have by (1.1) that

$$S_n^{(r)}(f, x) = n \sum_{v=0}^{\infty} p_{n,v}^{(r)}(x) \int_0^{\infty} q_{n,v}(t) f(t) dt.$$

By using Leibnitz theorem, we have

$$\begin{aligned}
 S_n^{(r)}(f, x) &= \\
 &= n \sum_{i=0}^{\infty} \sum_{v=i}^{\infty} \binom{r}{i} \frac{(n+v+r-i-1)!}{(n-1)!(v-i)!} (-1)^{r-i} x^{v-i} (1+x)^{-n-v-r-i} \int_0^{\infty} q_{n,v}(t) f(t) dt = \\
 &= n \sum_{v=0}^{\infty} \frac{(n+v+r-1)!}{(n-1)!v!} \frac{x^v}{(1+x)^{n+v+r}} \int_0^{\infty} \sum_{i=0}^r (-1)^{r-i} \binom{r}{i} q_{n,v+i}(t) f(t) dt = \\
 &= n \frac{(n+r-1)!}{(n-1)!} \sum_{v=0}^{\infty} p_{n+r,v}(x) \int_0^{\infty} \sum_{i=0}^r (-1)^{r-i} \binom{r}{i} q_{n,v+i}(t) f(t) dt .
 \end{aligned}$$

Next using again Leibnitz theorem, we get

$$q_{n,v+r}^{(r)}(t) = \sum_{i=0}^r \binom{r}{i} (-1)^i n^r \frac{e^{-nt} (nt)^{v+i}}{(v+i)!} = n^r \sum_{i=0}^r (-1)^i \binom{r}{i} q_{n,v+i}(t) .$$

Therefore,

$$S_n^{(r)}(f, x) = \frac{(n+r-1)!}{(n-1)!n^{r-1}} \sum_{v=0}^{\infty} p_{n+r,v}(x) \int_0^{\infty} q_{n,v+r}^{(r)}(t) (-1)^r f(t) dt$$

integrating by parts r times, we get the desired result.

Lemma 2.5 [4]. There exist the polynomials $\phi_{i,j,r}(x)$ independent of n and v such that

$$\frac{d^r}{dx^r} [x^v (1+x)^{-n-v}] = \sum_{\substack{2i+j \leq r \\ i, j \geq 0}} n^i (v-nx)^j \phi_{i,j,r}(x) x^{v-r} (1+x)^{-n-v-r} .$$

Lemma 2.6 [5]. If $C(j, k), j = 0, 1, 2, \dots,$ are defined as in (1.2), then

$$\sum_{j=0}^k C(j, k) d_j^{-m} = \begin{cases} 1 & m = 0, \\ 0 & m = 1, 2, \dots, k . \end{cases}$$

3. Main Results

In this section, we shall prove the main results.

Theorem 3.1. Let $f \in L$ be bounded on every finite subinterval of $[0, \infty)$ and $f^{(2k+r+2)}(x)$ exists at a fixed point $x \in (0, \infty)$. Let $f(t) = O(e^{\alpha t})$ as $t \rightarrow \infty$ for some $\alpha > 0$, then we have

$$(3.1) \quad \lim_{n \rightarrow \infty} n^{k+1} \left[\alpha(n, r, k) S_n^{(r)}(f, k, x) - f^{(r)}(x) \right] = \\ = \sum_{i=r+1}^{2k+r+2} Q(i, k, r, x) f^{(i)}(x),$$

$$(3.2) \quad \lim_{n \rightarrow \infty} n^{k+1} \left[\alpha(n, r, k) S_n^{(r)}(f, k, x) - f^{(r)}(x) \right] = 0,$$

where
$$\alpha(n, r, k) = \left[\sum_{j=0}^k C(j, k) \frac{(d_j n + r - 1)!}{d_j n^r (d_j n - 1)!} \right]^{-1}$$

and $Q(i, k, r, x)$ are certain polynomials in x of degree at most i . Further if $f^{(2k+r+2)}$ exists and is continuous on $(a - \eta, b + \eta)$, $\eta > 0$ then (3.1) and (3.2) hold uniformly in $[a, b]$.

Proof. First, by the Taylor's expansion of f we have

$$f(t) = \sum_{i=0}^{2k+r+2} \frac{f^{(i)}(x)}{i!} (t-x)^i + \varepsilon(t, x)(t-x)^{2k+r+2}$$

where $\varepsilon(t, x) \rightarrow 0$ as $t \rightarrow x$ and $\varepsilon(t, x)(t-x)^{2k+r+2}$ is of exponential order as $t \rightarrow \infty$. Such a formulation of Taylor's theorem has been used by many authors see e.g. May [5, Prop. 3.6], Derriennic [1, Th. II. 5] and Gupta [2, Th 1] etc. Now, using Lemma 2.4 and the above Taylor's expansion, we have

$$\begin{aligned} & n^{k+1} \left[\alpha(n, r, k) S_n^{(r)}(f, k, x) - f^{(r)}(x) \right] = \\ & = n^{k+1} \left[\alpha(n, r, k) \sum_{j=0}^k C(j, k) S_{d_j n}^{(r)}(f, x) - f^{(r)}(x) \right] = \\ & = n^{k+1} \left[\alpha(n, r, k) \sum_{i=0}^{2k+r+2} \frac{f^{(i)}(x)}{i!} \sum_{j=0}^k C(j, k) \frac{(d_j n + r - 1)!}{d_j n^{r-1} (d_j n - 1)!} \times \right. \\ & \quad \left. \times \sum_{\nu=0}^{\infty} p_{d_j n+r, \nu}(x) \int_0^{\infty} q_{d_j n, \nu+r}(t) \frac{d^r}{dx^r} (t-x)^i dt - f^{(r)}(x) \right] + \end{aligned}$$

$$\begin{aligned}
 & + \alpha(n, r, k) n^{k+1} \sum_{j=0}^k C(j, k) \sum_{v=0}^{\infty} P_{d_{j,n,v}}^{(r)}(x) \int_0^{\infty} q_{d_{j,n,v}}(t) \varepsilon(t, x) (t-x)^{2k+r+2} dt = \\
 & = \sum_{i=r+1}^{2k+r+2} Q(i, k, r, x) f^{(i)}(x) + E_{n,r,k}(x) + o(1),
 \end{aligned}$$

by Lemma 2.2, where

$$\begin{aligned}
 E_{n,r,k}(x) & = \alpha(n, r, k) n^{k+1} \sum_{j=0}^k C(j, k) \sum_{v=0}^{\infty} P_{d_{j,n,v}}^{(r)} \times \\
 & \times \int_0^{\infty} q_{d_{j,n,v}}(t) \varepsilon(t, x) (t-x)^{2k+r+2} dt.
 \end{aligned}$$

Thus to complete the proof of (3.1), it suffices to show that

$$I = n^{k+1} \sum_{v=0}^{\infty} p_{n,v}^{(r)}(x) \int_0^{\infty} q_{n,v}(t) \varepsilon(t, x) (t-x)^{2k+r+2} dt$$

tends to zero as $n \rightarrow \infty$.

Next, by Lemma 2.5 we have

$$\begin{aligned}
 |I| & \leq n^{k+1} \sum_{v=0}^{\infty} \sum_{\substack{2i+j \leq r \\ i, j \geq 0}} n^i |v-nx|^j |\phi_{i,j,r}(x)| p_{n,v}(x) \int_0^{\infty} q_{n,v}(t) |\varepsilon(t, x)| |t-x|^{2k+r+2} dt \leq \\
 & \leq n^{k+1} K(x) \sum_{\substack{2i+j \leq r \\ i, j \geq 0}} n^i \sum_{v=0}^{\infty} p_{n,v}(x) |v-nx|^j \int_0^{\infty} q_{n,v}(t) |\varepsilon(t, x)| |t-x|^{2k+r+2} dt \leq \\
 & \leq n^{k+1} K(x) \sum_{\substack{2i+j \leq r \\ i, j \geq 0}} n^i \left[\sum_{v=0}^{\infty} p_{n,v}(x) (v-nx)^{2j} \right]^{1/2} \times \\
 & \quad \times \left[\sum_{v=0}^{\infty} p_{n,v}(x) \left(\int_0^{\infty} q_{n,v}(t) |\varepsilon(t, x)| |t-x|^{2k+r+2} dt \right)^2 \right]^{1/2}
 \end{aligned}$$

where $K(x) = \sup_{\substack{2i+j \leq r \\ i, j \geq 0}} |\phi_{i,j,r}(x)|$.

For a given $\varepsilon > 0$ there exists a $\delta > 0$ such that $|\varepsilon(t, x)| < \varepsilon$ whenever $0 < |t-x| < \delta$. For $|t-x| \geq \delta$ we have $|\varepsilon(t, x)| |t-x|^{2k+r+2} \leq Ce^{at}$. Thus

$$\begin{aligned} & \left[\int_0^{\infty} q_{n,v}(t) |\varepsilon(t, x)| |t-x|^{2k+r+2} dt \right]^2 \leq \\ & \leq \frac{1}{n} \left[\int_{|t-x| < \delta} + \int_{|t-x| \geq \delta} \right] q_{n,v}(t) (\varepsilon(t, x))^2 (t-x)^{4k+2r+4} dt \leq \\ & \leq \frac{1}{n} \left\{ \int_{|t-x| < \delta} q_{n,v}(t) \varepsilon^2(t-x)^{4k+2r+4} dt + \int_{|t-x| \geq \delta} q_{n,v}(t) C^2 e^{\alpha t} dt \right\}. \end{aligned}$$

Applying Lemma 2.2 and Corollary 2.3, we get

$$\begin{aligned} & \sum_{v=0}^{\infty} P_{n,v}(x) \left[\int_0^{\infty} q_{n,v}(t) |\varepsilon(t, x)| |t-x|^{2k+r+2} dt \right]^2 \leq \\ & \leq \frac{1}{n} \sum_{v=0}^{\infty} P_{n,v}(x) \int_0^{\infty} q_{n,v}(t) \varepsilon^2(t-x)^{4k+2r+4} dt + \\ & + \frac{C^2}{n} \sum_{v=0}^{\infty} P_{n,v}(x) \int_{|t-x| \geq \delta} q_{n,v}(t) e^{\alpha t} dt = \\ & = \varepsilon^2 O(n^{-(2k+r+4)}) + O(n^{-m-2}). \end{aligned}$$

Thus, using Lemma 2.1, we have

$$\begin{aligned} |I| & \leq n^{k+1} K(x) \sum_{\substack{2i+j \leq r \\ i, j \geq 0}} n^{i+j} \cdot O(n^{-j/2}) \left\{ \varepsilon^2 O(n^{-(2k+r+4)}) + O(n^{-m-2}) \right\}^{1/2} = \\ & = \varepsilon^2 O(1), \end{aligned}$$

choosing $m > 2k+r+2$ and n sufficiently large, this implies that $I \rightarrow \infty$ as $n \rightarrow \infty$. This completes the proof of (3.1).

Next, we prove (3.2), using Lemma 2.2, we have

$$S_{d_j n}((t-x)^i, x) = \frac{P_0(x)}{(d_j n)^{[(i+1)/2]}} + \frac{P_1(x)}{(d_j n)^{[(i+1)/2]+1}} + \dots + \frac{P_{[i/2]}(x)}{(d_j n)^i}$$

for certain polynomials P_m ; $m=0,1,2,\dots,[i/2]$ in x of degree at most $[i/2]$. Clearly

$$S_n((t-x)^i, k+1, x) = \sum_{j=0}^{k+1} C(j, k+1) S_{d_j n}((t-x)^i, x) =$$

$$= \frac{1}{\Delta} \begin{vmatrix} \frac{P_0(x)}{(d_0 n)^{[(i+1)/2]}} + \frac{P_1(x)}{(d_0 n)^{[(i+1)/2]+1}} + \dots + \frac{P_{[i/2]}(x)}{(d_0 n)^i} & d_0^{-1} & \dots & d_0^{-(k+1)} \\ \frac{P_0(x)}{(d_1 n)^{[(i+1)/2]}} + \frac{P_1(x)}{(d_1 n)^{[(i+1)/2]+1}} + \dots + \frac{P_{[i/2]}(x)}{(d_1 n)^i} & d_1^{-1} & \dots & d_1^{-(k+1)} \\ \dots & \dots & \dots & \dots \\ \dots & \dots & \dots & \dots \\ \frac{P_0(x)}{(d_{k+1} n)^{[(i+1)/2]}} + \frac{P_1(x)}{(d_{k+1} n)^{[(i+1)/2]+1}} + \dots + \frac{P_{[i/2]}(x)}{(d_{k+1} n)^i} & d_{k+1}^{-1} & \dots & d_{k+1}^{-(k+1)} \end{vmatrix}$$

$$= n^{-(k+2)} \{Q(i, k, x) + o(1)\}, \quad i = k + 2, k + 3, \dots, 2k + r + 2$$

where Δ is as defined in (1.3).

Hence the assertion (3.2) can be proved along similar lines as that of (3.1) by using the above fact.

The last assertion follows due to uniform continuity of $f^{(2k+r+2)}$ on $[a, b]$, (enabling δ to become independent of $x \in [a, b]$).

Theorem 3.2. Let $f \in L$ be bounded on every finite subinterval of $[0, \infty)$. Also let $f(t) = O(e^{\alpha t})$ as $t \rightarrow \infty$ for some $\alpha > 0$. If $f^{(p+r)}$, $1 \leq p \leq 2k + 2$ exists and is continuous on $(a - \eta, b + \eta)$, $\eta > 0$, having the modulus of continuity $\omega_{f^{(p+r)}}(\delta)$ on $(a - \eta, b + \eta)$. Then for n sufficiently large:

$$\|\alpha(n, r, k) S_n^{(r)}(f, k, \cdot) - f^{(r)}\|_{C[a, b]} \leq \text{Max} \{C_1 n^{-p/2} \omega_{f^{(p+r)}}(n^{-1/2}), C_2 n^{-(k+1)}\}$$

where $C_1 = C_1(k, p, r)$, $C_2 = C_2(k, p, r, f)$ and $\alpha(n, r, k)$ as defined in Theorem 3.1.

Proof. For every $t \in [0, \infty)$ and $x \in [a, b]$, we have by Taylor's expansion

$$(3.3) \quad f(t) = \sum_{i=0}^{p+r} \frac{f^{(i)}(x)}{i!} (t-x)^i + \frac{\{f^{(p+r)}(\xi) - f^{(p+r)}(x)\}}{(p+r)!} (t-x)^{p+r} \chi + h(t, x)(1 - \chi(t)),$$

where ξ lies between t and x and $\chi(t)$ denotes the characteristic function of $(a - \eta, b + \eta)$. For $t \in [0, \infty) \setminus (a - \eta, b + \eta)$ and $x \in [a, b]$, we define

$$h(t, x) = f(t) - \sum_{i=0}^{p+r} \frac{f^{(i)}(x)}{i!} (t-x)^i.$$

For $t \in (a-\eta, b+\eta)$ and $x \in [a, b]$, we have

$$f(t) = \sum_{i=0}^{p+r} \frac{f^{(i)}(x)}{i!} (t-x)^i + \frac{\{f^{(p+r)}(\xi) - f^{(p+r)}(x)\}}{(p+r)!} (t-x)^{p+r}.$$

Now, using (3.3) and Lemma 2.4, we have

$$\begin{aligned} \alpha(n, r, k) S_n^{(r)}(f, k, x) - f^{(r)}(x) &= \\ &= \alpha(n, r, k) \left[\left\{ \sum_{i=0}^{p+r} \frac{f^{(i)}(x)}{i!} \sum_{j=0}^k C(j, k) \frac{(d_j n + r - 1)!}{d_j n^{r-1} (d_j n - 1)!} \sum_{v=0}^{\infty} P_{d_j n+r, v}(x) \times \right. \right. \\ &\quad \left. \left. \times \int_0^{\infty} q_{d_j n, v+r}(t) \frac{d^r}{dx^r} (t-x)^i dt - f^{(r)}(x) \right\} + \right. \\ &+ \sum_{j=0}^k C(j, k) d_j n \sum_{v=0}^{\infty} P_{d_j n, v}^{(r)}(x) \int_0^{\infty} q_{d_j n, v}(t) \frac{\{f^{(p+r)}(\xi) - f^{(p+r)}(x)\}}{(p+r)!} (t-x)^{p+r} \chi(t) dt + \\ &+ \left. \sum_{j=0}^k C(j, k) d_j n \sum_{v=0}^{\infty} P_{d_j n, v}^{(r)}(x) \int_0^{\infty} q_{d_j n, v}(t) h(t, x) (1 - \chi(t)) dt \right] = \\ &= J_1 + \alpha(n, r, k) (J_2 + J_3), \text{ say.} \end{aligned}$$

Making use of Lemma 2.2 and Lemma 2.6, we obtain

$$J_1 \leq K_1 n^{-(k+1)}, \text{ uniformly for } x \in [a, b]$$

where $K_1 = K_1(k, p, r, f)$.

Next, to estimate J_2 , let

$$J_4 = n \sum_{v=0}^{\infty} P_{n, v}^{(r)}(x) \int_0^{\infty} q_{n, v}(t) \frac{\{f^{(p+r)}(\xi) - f^{(p+r)}(x)\}}{(p+r)!} (t-x)^{p+r} \chi(t) dt.$$

Using Lemma 2.5, we get

$$\begin{aligned} |J_4| &\leq n \sum_{v=0}^{\infty} \sum_{\substack{2i+j \leq r \\ i, j \geq 0}} n^i |v - nx|^j \frac{|\phi_{i, j, r}(x)|}{x^r (1+x)^r} P_{n, v}(x) \times \\ &\quad \times \int_0^{\infty} q_{n, v}(t) \frac{|f^{(p+r)}(\xi) - f^{(p+r)}(x)|}{(p+r)!} |t-x|^{p+r} \chi(t) dt \leq \end{aligned}$$

$$\begin{aligned}
&\leq \frac{nC_1}{(p+r)!} \sum_{\substack{2i+j \leq r \\ i, j \geq 0}} n^i \sum_{v=0}^{\infty} p_{n,v}(x) |v-nx|^j \times \\
&\quad \times \int_0^{\infty} q_{n,v}(t) \left[1 + \frac{|t-x|}{\delta} \right] \omega_f(p+r)(\delta) |t-x|^{p+r} dt = \\
&= \frac{nC_1 \omega_f(p+r)(\delta)}{(p+r)!} \sum_{\substack{2i+j \leq r \\ i, j \geq 0}} n^i \sum_{v=0}^{\infty} p_{n,v}(x) |v-nx|^j \times \\
&\quad \times \int_0^{\infty} q_{n,v}(t) \left\{ |t-x|^{p+r} + \frac{|t-x|^{p+r+1}}{\delta} \right\} dt \quad \text{dla każdego } \delta > 0
\end{aligned}$$

where

$$C_1 = \sup_{\substack{2i+j \leq r \\ i, j \geq 0}} \sup_{x \in [a, b]} \frac{|\phi_{i,j,r}(x)|}{x^r (1+x)^r}.$$

Now, we shall show that for $m = 0, 1, 2, \dots$

$$n \sum_{v=0}^{\infty} p_{n,v}(x) |v-nx|^j \int_0^{\infty} q_{n,v}(t) |t-x|^m dt = O[n^{(j-m)/2}].$$

We have

$$\begin{aligned}
&n \sum_{v=0}^{\infty} p_{n,v}(x) |v-nx|^j \int_0^{\infty} q_{n,v}(t) |t-x|^m dt \leq \\
&\leq n \sum_{v=0}^{\infty} p_{n,v}(x) |v-nx|^j \left[\left(\int_0^{\infty} q_{n,v}(t) dt \right)^{1/2} \left(\int_0^{\infty} q_{n,v}(t) (t-x)^{2m} dt \right)^{1/2} \right] = \\
&= \frac{n}{\sqrt{n}} \sum_{v=0}^{\infty} p_{n,v}(x) |v-nx|^j \left[\int_0^{\infty} q_{n,v}(t) (t-x)^{2m} dt \right]^{1/2} \leq \\
&\leq \left[\sum_{v=0}^{\infty} p_{n,v}(x) (v-nx)^{2j} \right]^{1/2} \left[n \sum_{v=0}^{\infty} p_{n,v}(x) \int_0^{\infty} q_{n,v}(t) (t-x)^{2m} dt \right]^{1/2} = \\
&= O(n^{j/2}) \cdot O(n^{-m/2}) = O(n^{(j-m)/2}),
\end{aligned}$$

uniformly in x , by Lemma 2.1 and Lemma 2.2. Hence

$$|J_4| \leq \frac{C_1 \omega_{f^{(p+r)}}(\delta)}{(p+r)!} \sum_{\substack{2i+j \leq r \\ i, j \geq 0}} n^i \left[O(n^{(j-p-r)/2}) + \frac{1}{\delta} O(n^{(j-p-r-1)/2}) \right].$$

Choosing $\delta = n^{-1/2}$, we get

$$|J_4| \leq C_2 n^{-p/2} \omega_{f^{(p+r)}}(n^{-1/2}).$$

Therefore

$$|J_2| \leq K_2 n^{-p/2} \omega_{f^{(p+r)}}(n^{-1/2}), \text{ where } K_2 = K_2(k, p, r).$$

Finally, we estimate J_3 . Since $t \in [0, \infty) \setminus (a - \eta, b + \eta)$, we can choose a $\delta > 0$ in such a way that $|t - x| \geq \delta$ for all $x \in [a, b]$. Let

$$J_5 = n \sum_{v=0}^{\infty} p_{n,v}^{(r)}(x) \int_0^{\infty} q_{n,v}(t) h(t, x) (1 - \chi(t)) dt.$$

Using Lemma 2.4, we get

$$|J_5| \leq n \sum_{v=0}^{\infty} \sum_{\substack{2i+j \leq r \\ i, j \geq 0}} n^i |v - nx|^j \frac{|\phi_{i,j,r}(x)|}{x^r (1+x)^r} p_{n,v}(x) \int_{|t-x| \geq \delta} q_{n,v}(t) |h(t, x)| dt.$$

If β is any integer $\geq \max\{\alpha, 2k + r + 2\}$ then we can find a constant C_3 such that $|h(t, x)| \leq C_3 e^{\beta t}$ for $|t - x| \geq \delta$.

Applying Cauchy-Schwarz inequality, Lemma 2.7 and Corollary 2.3, we obtain

$$\begin{aligned} |J_5| &\leq C_1 n \sum_{v=0}^{\infty} \sum_{\substack{2i+j \leq r \\ i, j \geq 0}} n^i |v - nx|^j p_{n,v}(x) \int_{|t-x| \geq \delta} q_{n,v}(t) C_3 e^{\beta t} dt \leq \\ &\leq C_4 n \sum_{\substack{2i+j \leq r \\ i, j \geq 0}} n^i \sum_{v=0}^{\infty} |v - nx|^j p_{n,v}(x) \int_{|t-x| \geq \delta} q_{n,v}(t) C_3 e^{\beta t} dt = \\ &= \sum_{\substack{2i+j \leq r \\ i, j \geq 0}} n^i O(n^{j/2}) O(n^{-m}) = O(n^{(r-2m)/2}) = O(n^{-(k+1)}) \end{aligned}$$

uniformly on $[a, b]$, where m is a natural bigger than $\beta/2$.

Hence, $|J_3| \leq K_3 n^{-(k+1)}$.

Combining the estimates of J_1 , J_2 and J_3 we get the required result.

Acknowledgements: *We are extremely grateful to the referee for his valuable advice and many suggestions.*

References

- [1] M.M. Derriennic, Sur l' approximation de fonctions integrable sur $[0,1]$ par des polynomes de Bernstein modifies, *J. Approx. Theory* 31(1981), 325-343.
- [2] V. Gupta, A note on modified Baskakov type operators, *Approx. Theory and its Appl.* 10 : 3(1994), 74-78.
- [3] V. Gupta, G.S. Srivastava, Simultaneous approximation by Baskakov Szász type operators, *Bull. Math. Soc. Sci. Math. (N.S)* 37(85) no 3 (1993).
- [4] H.S. Kasana, P.N. Agrawal, V. Gupta, Inverse and saturation theorems for linear combination of modified Baskakov operators, *Approx. Theory and its Appl.* 7 : 2 (1991), 65-81.
- [5] C.P. May, Saturation and inverse theorems for combinations of a class of exponential type operators, *Canad. J. Math.* 28(6) (1976), 1224-1250.

(Department of Mathematics, University of Roorkee, Roorkee - 247667 (U.P.) India)

Received on 29.05.1995 and, in revised form, on 11.12.1995.